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TM3HFE3H3 1 H

OUTEL#&N: 234 INBELH): 161718

(WP )
- 11 W5 44 46 90 21.6 68.4 N1
HEEE DS M IE— 46 41 87 16.8 70.2 ANE
3 fiL IR 38 42 80 9.6 70.4 N1
4 fr G AT 43 38 81 9.6 714 ANE
5L kH#E= 39 40 79 72 71.8 N1
6 i A 2] 49 42 91 192 71.8
7L BT AET 43 41 84 12.0 72.0 N1
8 iz E IRE 44 40 84 12.0 72.0
9 fir RAR HR 42 50 92 192 72.8
10 fir INR I — 44 41 85 12.0 73.0 N1
11 {7 AF EHT 55 52 107 33.6 734 I
12 fir sl B 39 42 81 72 73.8 e I
13 iz bl 282 48 50 98 24.0 74.0
14 7 i X0 F 52 58 110 36.0 74.0 347
15 iz el e 45 46 91 16.8 74.2
16 iz NI 52 47 49 96 21.6 74 .4
17 iz H FF 50 46 96 21.6 744
18 iz R e 39 38 77 24 74.6
19 iz TN B 47 54 101 26.4 74.6
20 7 A N EE 48 44 92 16.8 752 TRE
21 BN A 43 49 92 16.8 75.2
22 fir W fif = 54 43 97 21.6 754
23 fir L A 57 50 107 31.2 75.8
24 fir = 39 42 81 4.8 76.2
25 fir Tk B 43 50 93 16.8 76.2
26 fir AR &4 44 42 86 9.6 76.4
27 iz KK T 51 47 98 21.6 76.4
28 fir W BHE 47 51 98 21.6 76.4
29 fir =i 7% 48 43 91 144 76.6
30 iz INEERIES 59 58 117 40.4 76.6 TRE
31 fif /INET BAAT 43 44 87 9.6 774
32 fir W& RZ 41 39 80 24 77.6
33 fif ZN= RN 49 43 92 14.4 77.6
34 fir WA WHIR 43 49 92 144 77.6
35 fiL HN H & 44 48 92 144 77.6
36 iz /PR ER 52 52 104 26.4 77.6
37 fir JIA Y F 58 58 116 38.4 77.6
38 fif [ AR 51 46 97 192 77.8
39 fir fEH 78 51 51 102 24.0 78.0
40 7 Kz 55 47 102 24.0 78.0 TRE
41 b1 SR 42 41 83 4.8 78.2
42 fir G IEAL 41 42 83 4.8 78.2
43 iz FIK e 47 48 95 16.8 78.2
44 1 HR 2 HI 59 48 107 28.8 78.2
45 iz H 5 75 5% 50 50 100 21.6 78.4
46 iz WSS RT3~ 54 44 98 192 78.8
47 iz 21 # 51 47 98 19.2 78.8
48 fir R Z#— 41 43 84 4.8 79.2
49 {1 Goaal:li)i 47 42 89 9.6 79.4
50 vz 34 JE L 46 43 89 9.6 79.4 TRE
51 4% LLH 4155 43 46 89 9.6 794
52 fir N S 47 54 101 21.6 794
53 fir SELT A 43 39 82 24 79.6
54 fif AR M5E 43 44 87 72 79.8
55 fr HH = ) 57 54 111 31.2 79.8
56 fir HR B 55 49 104 24.0 80.0
57 Rl A 53 51 104 24.0 80.0
58 fir KA T 55 42 97 16.8 80.2
59 iz WEer th BB 49 48 97 16.8 80.2
60 {7 B 52 50 47 97 16.8 80.2 RE
61 fir FRIRT 49 46 95 144 80.6
62 fir ANSEEIPS 52 55 107 264 80.6
63 fir I f2 46 42 88 72 80.8
64 fif =R 50 50 100 192 80.8
65 fir W 1| i fe 49 51 100 192 80.8
66 fir alll —k 44 37 81 0 81.0
67 L L E A 47 46 93 12.0 81.0
68 fir IRESRTW/S 48 45 93 12.0 81.0
69 fir AT e 49 47 96 144 81.6
70 7 I A= 52 49 101 19.2 81.8 TRE
71 6% P o 49 52 101 192 81.8
72 B NG 52 49 101 192 81.8
73 L LT A 46 41 87 4.8 82.2
74 7 TRE 2L 50 49 99 16.8 82.2
75 L A7 2l 50 45 95 12.0 83.0
76 fiL EESTIGN 57 50 107 24.0 83.0
77 B EHG syl 47 41 88 4.8 83.2
78 r i H E 45 43 88 4.8 83.2
79 fr Bk &2 60 50 110 26.4 83.6
80 iz -3y Fa4: 46 50 96 12.0 84.0 RE
81 iz P SR 49 47 96 12.0 84.0
82 fir At HH3E 64 56 120 36.0 84.0
83 iz T FIA 55 46 101 16.8 84.2
84 ir FEA I 51 50 101 16.8 84.2
85 iz e FHE 51 50 101 16.8 84.2
86 iz BRI A+ 53 53 106 21.6 84.4
87 iz B ) 1| Je SR 55 51 106 21.6 84.4
88 iz Hedy {~A] 48 51 99 14 4 84.6
89 iz 2 H E 48 44 92 72 84.8
90 fiz Lk T 56 48 104 192 84.8 RE
91 fiz R B 54 50 104 192 84.8
92 fir AHHE 54 50 104 192 84.8
93 fi IR A 48 49 97 12.0 85.0
94 fi. F2 7 NIT=R | 55 66 121 36.0 85.0
95 fiz SRl U 48 54 102 16.8 85.2
96 fir IRl 56 58 114 28.8 85.2
97 fiz LZE W] 48 47 95 9.6 85.4
98 fi T 28 52 48 100 144 85.6
99 fiz HlS 5 % 54 51 105 192 85.8
100 £z el R 55 55 110 24.0 86.0 RE
101 fiz HIE 55 53 108 21.6 86.4
102 i A7 Falh 52 56 108 21.6 86.4
103 fiz LLTH R = 58 65 123 36.4 86.6
104 fiz A B 51 55 106 192 86.8
105 £ /NS TR 67 57 124 36.4 87.6
106 i MR B 55 53 108 192 88.8
107 £ iR EPS 53 55 108 192 88.8
108 fiz Wi 265 H 64 61 125 36.0 89.0
109 fiz HSIRG RpEE 46 48 94 4.8 89.2
110 fi7 £ Al 47 52 99 9.6 89.4 =1
111 {7 SH 7 53 56 109 192 89.8
112 {7 KA AL 65 56 121 31.2 89.8
113 {7 T FE 51 51 102 12.0 90.0
114 f7 HHH 1ER 53 59 112 21.6 90.4
115 {7 el 751 56 59 115 24.0 91.0
116 fiL HAR %5 51 45 96 4.8 91.2
117 f7 il fE— 59 69 128 36.4 91.6
118 {7 AL~ FELR 58 56 114 21.6 92 .4
119 iz Hy 5. 58 67 125 31.2 93.8
120 7 E2E1NSTUN 50 44 94 0 94.0 =1
121 7 Y PR — 60 56 116 21.6 94 4
122 f7 U R=! 52 55 107 120 95.0
123 {7 KKz Bk 68 59 127 31.2 95.8
124 7 H A7 64 56 120 24.0 96.0
125 fiz s 77 67 61 128 31.2 96.8
126 fiz BN %)Y 68 68 136 38.4 97.6
127 7 G HZ 66 72 138 36.4 101.6
128 i Ktz TV 69 71 140 36.4 103.6
129 fiz e K it 70 80 150 36.4 113.6
130 17 AR BEZ 69 82 151 36.4 114.6 RE
131 f7 T &R 81 73 154 36.4 117.6
132 7 AZNIT=N ) 80 75 155 36.4 118.6 BBEH

133 7 HH A% 81 84 165 40 4 124.6




